

Applications of Fractional Calculus and Borel Distribution Series for Multivalent Functions on Complex Hilbert Space

Abbas Kareem Wanas^{1,*}, Elumalai Muthiayan² and Elham Kareem Wanas³

¹Department of Mathematics, College of Science, University of Al-Qadisiyah, Diwaniya, Iraq
e-mail: abbas.kareem.w@qu.edu.iq

²Department of Mathematics, St. Joseph's Institute of Technology, OMR, Chennai, Tamilnadu, India
e-mail: 1988malai@gmail.com

³College of Engineering, University of Al-Qadisiyah, Diwaniya, Iraq
e-mail: elham.kareem.wanas@qu.edu.iq

Abstract

In this paper, we introduce applications of fractional calculus techniques for a family of multivalent analytic functions defined by the Borel distribution on Hilbert space. We derive several interesting properties, including coefficient estimates, extreme points, and convex combinations.

1. Introduction

Let H be a complex Hilbert space. Let T be a linear operator on H . For a complex analytic function f on the open unit disk $U = \{z \in \mathbb{C} : |z| < 1\}$, we denoted $f(T)$, the operator on H defined by the usual Riesz-Dunford integral [2]

$$f(T) = \frac{1}{2\pi i} \int_c f(z)(zI - T)^{-1} dz,$$

where I is the identity operator on H , c is a positively oriented simple closed rectifiable contour lying in U and containing the spectrum $\sigma(T)$ of T in its interior domain [3]. Also $f(T)$ can be defined by the series

$$f(T) = \sum_{n=0}^{\infty} \frac{f^{(n)}(0)}{n!} T^n,$$

which converges in the norm topology [4].

Denote by $W(p, m)$ the family of functions of the form:

$$f(z) = z^p + \sum_{n=p+m}^{\infty} a_n z^n \quad (p, m \in \mathbb{N} = \{1, 2, \dots\}), \quad (1.1)$$

which are analytic and multivalent in the open unit disk U .

Let $J(p, m)$ denote the subfamily of $W(p, m)$ consisting of functions of the form:

$$f(z) = z^p - \sum_{n=p+m}^{\infty} a_n z^n \quad (a_n \geq 0, p, m \in \mathbb{N} = \{1, 2, \dots\}), \quad (1.2)$$

A function $f \in W(p, m)$ is said to be multivalent starlike of order α ($0 \leq \alpha < p$) if it satisfies the condition:

$$\operatorname{Re} \left\{ \frac{zf'(z)}{f(z)} \right\} > \alpha \quad (z \in U),$$

and is said to be multivalent convex of order α ($0 \leq \alpha < p$) if it satisfies the condition :

$$\operatorname{Re} \left\{ 1 + \frac{zf''(z)}{f'(z)} \right\} > \alpha \quad (z \in U).$$

Denote by $S_m^*(p, \alpha)$ and $C_m(p, \alpha)$ the classes of multivalent starlike and multivalent convex functions of order α , respectively, which were introduced and studied by Owa [9]. It is known that (see [6] and [9])

$$f \in C_m(p, \alpha) \text{ if and only if } \frac{zf'(z)}{p} \in S_m^*(p, \alpha).$$

The classes $S_m^* = S^*(p, \alpha)$ and $C_1(p, \alpha) = C(p, \alpha)$ were studied by Own [8].

A discrete random variable x is said to have a Borel distribution if it takes the values $1, 2, 3, \dots$ with the probabilities $\frac{e^{-\theta}}{1!}, \frac{2\theta e^{-2\theta}}{2!}, \frac{9\theta^2 e^{-3\theta}}{3!}, \dots$ respectively, where θ is called the parameter.

Very recently, Wanas and Khuttar [12] introduced the Borel distribution (BD) whose probability mass function is

$$P(x = r) = \frac{(\theta r)^{r-1} e^{-\theta r}}{r!}, \quad r = 1, 2, 3, \dots$$

Wanas and Khuttar [12] introduced a series whose coefficients are probabilities of the Borel distribution (BD)

$$\mathcal{N}_p(\theta; z) = z^p + \sum_{n=p+m}^{\infty} \frac{(\theta(n-p))^{n-p-1} e^{-\theta(n-p)}}{(n-p)!} z^n = z^p + \sum_{n=p+m}^{\infty} \Phi_{n,p}(\theta) z^n,$$

where $0 < \theta \leq 1$ and

$$\Phi_{n,p}(\theta) = \frac{(\theta(n-p))^{n-p-1} e^{-\theta(n-p)}}{(n-p)!}.$$

We consider a linear operator $\mathcal{M}(p, \theta)f: J(p, m) \rightarrow J(p, m)$ defined by the convolution or Hadamard product

$$\mathcal{M}(p, \theta)f(z) = \mathcal{N}_p(\theta; z) * f(z) = z^p - \sum_{n=p+m}^{\infty} \frac{(\theta(n-p))^{n-p-1} e^{-\theta(n-p)}}{(n-p)!} a_n z^n, \quad (1.3)$$

where $a_n \geq 0$, $0 < \theta \leq 1$ and $z \in U$.

If $f(T)$ is defined by (1.2), we also have

$$\mathcal{M}(p,\theta)f(T) = \mathcal{N}_p(\theta;T) * f(T) = T^p - \sum_{n=p+m}^{\infty} \frac{(\theta(n-p))^{n-p-1} e^{-\theta(n-p)}}{(n-p)!} a_n T^n, \tag{1.4}$$

Definition 1.1 [10]. The fractional integral operator of order λ ($\lambda > 0$) is defined by

$$D_T^{-\lambda} f(T) = \frac{1}{\Gamma(\lambda)} \int_0^1 \frac{T^\lambda f(tT)}{(1-t)^{1-\lambda}} dt,$$

where f is analytic function in a simple connected region of z -plane containing the origin.

Definition 1.2 [10]. The fractional derivative for operator of order λ ($0 \leq \lambda < 1$) is defined by

$$D_T^\lambda f(T) = \frac{1}{\Gamma(1-\lambda)} \frac{d}{dT} \int_0^1 \frac{T^{1-\lambda} f(tT)}{(1-t)^\lambda} dt,$$

where f is analytic in a simply connected region of the z -plane containing the origin.

For $f \in J(p,m)$, from Definitions 1.1 and 1.2 by applying a simple calculation, we get

$$D_T^{-\lambda} f(T) = \frac{\Gamma(p+1)}{\Gamma(p+\lambda+1)} T^{p+\lambda} - \sum_{n=p+m}^{\infty} \frac{\Gamma(n+1)}{\Gamma(n+\lambda+1)} a_n T^{n+\lambda} \tag{1.5}$$

and

$$D_T^\lambda f(T) = \frac{\Gamma(p+1)}{\Gamma(p-\lambda+1)} T^{p-\lambda} - \sum_{n=p+m}^{\infty} \frac{\Gamma(n+1)}{\Gamma(n-\lambda+1)} a_n T^{n-\lambda} \tag{1.6}$$

The operator on Hilbert space were considered recently by several researcher, can refer, for example, to [1,5,7,10,11,12,13,14,15,16,17,18].

2. Coefficient Estimates

In this section, we introduce the family $E_p^m(\theta,\gamma,\mu,\eta,T)$ and obtain coefficient estimates for the function f in this family.

Definition 2.1. A function $f \in J(p,m)$ is said to be in the family $E_p^m(\theta,\gamma,\mu,\eta,T)$ if and only if satisfies the inequality:

$$\begin{aligned} & \|T^2(\mathcal{M}(p,\theta)f(T))_{,,} - p(T(\mathcal{M}(p,\theta)f(T)), - \mathcal{M}(p,\theta)f(T))\| \\ & < \eta \|(p - 2\gamma\mu)(T(\mathcal{M}(p,\theta)f(T)), - \mathcal{M}(p,\theta)f(T)) + (2\gamma - 1)T^2(\mathcal{M}(p,\theta)f(T))_{,,}\|, \end{aligned} \tag{2.1}$$

where $\frac{1}{2} \leq \gamma \leq 1, 0 \leq \mu < \frac{1}{2}, 0 < \eta \leq 1, 0 < \theta \leq 1$ and for all operator T with $\|T\| < 1$ and $T \neq 0$ (\emptyset denote the zero operator on H).

Theorem 2.1. Let $f \in J(p,m)$ be defined by (1.2). Then $f \in E_p^m(\theta,\gamma,\mu,\eta,T)$ for all $T \neq \emptyset$ if and only if

$$\sum_{n=p+m}^{\infty} \frac{(n-1)(\theta(n-p))^{n-p-1}e^{-\theta(n-p)}[2\gamma\eta(n-\mu) + (p-n)(1+\eta)]}{(n-p)!} a_n \leq 2\gamma\eta(p-1)(p-\mu),$$

where $\frac{1}{2} \leq \gamma \leq 1, 0 \leq \mu < \frac{1}{2}, 0 < \eta \leq 1, 0 < \theta \leq 1$.

The result is sharp for the function f given by

$$f(z) = z^p - \frac{2\gamma\eta(p-1)(p-\mu)(n-p)!}{(n-1)(\theta(n-p))^{n-p-1}e^{-\theta(n-p)}[2\gamma\eta(n-\mu) + (p-n)(1+\eta)]} z^n, \quad n \geq 2. \quad (2.2)$$

Proof. Suppose that the inequality (2.1) holds. Then, we have

$$\begin{aligned} & \|T^2(\mathcal{M}(p,\theta)f(T))_{,,} - p(T(\mathcal{M}(p,\theta)f(T))_{,,} - \mathcal{M}(p,\theta)f(T))\| \\ & \quad - \eta\|(p - 2\gamma\mu)(T(\mathcal{M}(p,\theta)f(T))_{,,} - \mathcal{M}(p,\theta)f(T)) + (2\gamma - 1)T^2(\mathcal{M}(p,\theta)f(T))_{,,}\| \\ & = \left\| - \sum_{n=p+m}^{\infty} \frac{(n-1)(p-n)(\theta(n-p))^{n-p-1}e^{-\theta(n-p)}}{(n-p)!} a_n T^2 \right\| \\ & \quad - \eta \left\| 2\gamma(p-1)(p-\mu)T^p - \sum_{n=p+m}^{\infty} \frac{(n-1)(\theta(n-p))^{n-p-1}e^{-\theta(n-p)}[2\gamma(n-\mu) + (p-n)]}{(n-p)!} a_n T^n \right\| \\ & \leq \sum_{n=p+m}^{\infty} \frac{(n-1)(p-n)(\theta(n-p))^{n-p-1}e^{-\theta(n-p)}}{(n-p)!} a_n \|T\|^2 - 2\gamma\eta(p-1)(p-\mu)\|T\|^p \\ & \quad + \sum_{n=p+m}^{\infty} \frac{\eta(n-1)(p-n)(\theta(n-p))^{n-p-1}e^{-\theta(n-p)}}{(n-p)!} a_n \|T\|^n \\ & \leq \sum_{n=p+m}^{\infty} \frac{(n-1)(\theta(n-p))^{n-p-1}e^{-\theta(n-p)}[2\gamma\eta(n-\mu) + (p-n)(1+\eta)]}{(n-p)!} a_n - 2\gamma\eta(p-1)(p-\mu) \leq 0. \end{aligned}$$

Hence $f \in E_p^m(\theta,\gamma,\mu,\eta,T)$.

To show the converse, let $f \in E_p^m(\theta,\gamma,\mu,\eta,T)$. Then

$$\begin{aligned} & \|T^2(\mathcal{M}(p,\theta)f(T))_{,,} - p(T(\mathcal{M}(p,\theta)f(T))_{,,} - \mathcal{M}(p,\theta)f(T))\| \\ & \quad < \eta\|(p - 2\gamma\mu)(T(\mathcal{M}(p,\theta)f(T))_{,,} - \mathcal{M}(p,\theta)f(T)) + (2\gamma - 1)T^2(\mathcal{M}(p,\theta)f(T))_{,,}\|, \end{aligned}$$

gives

$$\begin{aligned} & \left\| - \sum_{n=p+m}^{\infty} \frac{(n-1)(p-n)(\theta(n-p))^{n-p-1}e^{-\theta(n-p)}}{(n-p)!} a_n T^2 \right\| \\ & \quad < \eta \left\| 2\gamma(p-1)(p-\mu)T^p - \sum_{n=p+m}^{\infty} \frac{(n-1)(\theta(n-p))^{n-p-1}e^{-\theta(n-p)}[2\gamma(n-\mu) + (p-n)]}{(n-p)!} a_n T^n \right\|. \end{aligned}$$

Setting $T = rI$ ($0 < r < 1$) in the above inequality, we get

$$\frac{\sum_{n=p+m}^{\infty} \frac{(n-1)(p-n)(\theta(n-p))^{n-p-1} e^{-\theta(n-p)}}{(n-p)!} a_n r^n}{2\gamma(p-1)(p-\mu)r^p - \sum_{n=p+m}^{\infty} \frac{(n-1)(\theta(n-p))^{n-p-1} e^{-\theta(n-p)} [2\gamma(n-\mu) + (p-n)]}{(n-p)!} a_n r^n} < \eta. \tag{2.3}$$

Upon clearing denominator in (2.3) and letting $r \rightarrow 1$, we obtain

$$\sum_{n=p+m}^{\infty} \frac{(n-1)(p-n)(\theta(n-p))^{n-p-1} e^{-\theta(n-p)}}{(n-p)!} a_n < 2\gamma\eta(p-1)(p-\mu)r^p - \sum_{n=p+m}^{\infty} \frac{\eta(n-1)(\theta(n-p))^{n-p-1} e^{-\theta(n-p)} [2\gamma(n-\mu) + (p-n)]}{(n-p)!} a_n$$

or

$$\sum_{n=p+m}^{\infty} \frac{(n-1)(\theta(n-p))^{n-p-1} e^{-\theta(n-p)} [2\gamma\eta(n-\mu) + (p-n)(1+\eta)]}{(n-p)!} a_n \leq 2\gamma\eta(p-1)(p-\mu),$$

which completes the proof.

Corollary 2.1. *If $f \in E_p^m(\theta, \gamma, \mu, \eta, T)$, then*

$$a_n \leq \frac{2\gamma\eta(p-1)(p-\mu)(n-p)!}{(n-1)(\theta(n-p))^{n-p-1} e^{-\theta(n-p)} [2\gamma\eta(n-\mu) + (p-n)(1+\eta)]}, \quad n \geq 2. \tag{2.4}$$

3. Applications of the Fractional Calculus

Theorem 3.1. *If $f \in E_p^m(\theta, \gamma, \mu, \eta, T)$, then*

$$\begin{aligned} & \|D_T^{-\lambda} f(T)\| \\ & \leq \frac{\Gamma(p+1)}{\Gamma(p+\lambda+1)} \|T\|^{p+\lambda} \left[1 + \frac{2\gamma\eta(p-1)(p-\mu)m!\Gamma(p+m+1)\Gamma(p+\lambda+1)}{(p+m-1)(\theta m)^{m-1} e^{-\theta m} [2\gamma\eta(p+m-\mu) - m(1+\eta)]\Gamma(p+1)\Gamma(p+m+\lambda+1)} \|T\|^m \right] \end{aligned} \tag{3.1}$$

and

$$\begin{aligned} & \|D_T^{-\lambda} f(T)\| \\ & \geq \frac{\Gamma(p+1)}{\Gamma(p+\lambda+1)} \|T\|^{p+\lambda} \left[1 - \frac{2\gamma\eta(p-1)(p-\mu)m!\Gamma(p+m+1)\Gamma(p+\lambda+1)}{(p+m-1)(\theta m)^{m-1} e^{-\theta m} [2\gamma\eta(p+m-\mu) - m(1+\eta)]\Gamma(p+1)\Gamma(p+m+\lambda+1)} \|T\|^m \right]. \end{aligned} \tag{3.2}$$

The result is sharp for the function f given by

$$f(z) = z^p - \frac{2\gamma\eta(p-1)(p-\mu)m!}{(p+m-1)(\theta m)^{m-1} e^{-\theta m} [2\gamma\eta(p+m-\mu) - m(1+\eta)]} z^{p+m}, \quad (p, m \in \mathbb{N}). \tag{3.3}$$

Proof. Let $f \in E_p^m(\theta, \gamma, \mu, \eta, T)$. By (1.5), we have

$$\frac{\Gamma(p+\lambda+1)}{\Gamma(p+1)} T^{-\lambda} D_T^{-\lambda} f(T) = T^p - \sum_{n=p+m}^{\infty} \frac{\Gamma(n+1)\Gamma(p+\lambda+1)}{\Gamma(p+1)\Gamma(n+\lambda+1)} a_n T^n.$$

Setting

$$\psi(n, \lambda) = \frac{\Gamma(n+1)\Gamma(p+\lambda+1)}{\Gamma(p+1)\Gamma(n+\lambda+1)}, (n \geq p+m, p, m \in \mathbb{N}).$$

We get

$$\frac{\Gamma(p+\lambda+1)}{\Gamma(p+1)} T^{-\lambda} D_T^{-\lambda} f(T) = T^p - \sum_{n=p+m}^{\infty} \psi(n, \lambda) a_n T^n.$$

Since for $n \geq p+m$, ψ is a decreasing function of n , then we have

$$0 < \psi(n, \lambda) \leq \psi(p+m, \lambda) = \frac{\Gamma(p+m+1)\Gamma(p+\lambda+1)}{\Gamma(p+1)\Gamma(p+m+\lambda+1)}. \quad (3.4)$$

Now, by the application of Theorem 2.1 and (3.4), we obtain

$$\begin{aligned} & \left\| \frac{\Gamma(p+\lambda+1)}{\Gamma(p+1)} T^{-\lambda} D_T^{-\lambda} f(T) \right\| \\ & \leq \|T\|^p + \sum_{n=p+m}^{\infty} \psi(n, \lambda) a_n \|T\|^n \\ & \leq \|T\|^p + \psi(p+m, \lambda) \|T\|^{p+m} \sum_{n=p+m}^{\infty} a_n \\ & \leq \|T\|^p + \frac{2\gamma\eta(p-1)(p-\mu)m!\Gamma(p+m+1)\Gamma(p+\lambda+1)}{(p+m-1)(\theta m)^{m-1}e^{-\theta m}[2\gamma\eta(p+m-\mu)-m(1+\eta)]\Gamma(p+1)\Gamma(p+m+\lambda+1)} \|T\|^{p+m}, \end{aligned}$$

which gives (3.1), we also have

$$\begin{aligned} & \left\| \frac{\Gamma(p+\lambda+1)}{\Gamma(p+1)} T^{-\lambda} D_T^{-\lambda} f(T) \right\| \\ & \geq \|T\|^p - \sum_{n=p+m}^{\infty} \psi(n, \lambda, \theta) a_n \|T\|^n \\ & \geq \|T\|^p - \psi(p+m, \lambda) \|T\|^{p+m} \sum_{n=p+m}^{\infty} a_n \\ & \geq \|T\|^p - \frac{2\gamma\eta(p-1)(p-\mu)m!\Gamma(p+m+1)\Gamma(p+\lambda+1)}{(p+m-1)(\theta m)^{m-1}e^{-\theta m}[2\gamma\eta(p+m-\mu)-m(1+\eta)]\Gamma(p+1)\Gamma(p+m+\lambda+1)} \|T\|^{p+m}, \end{aligned}$$

which gives (3.2).

By taking $\lambda = 1$ in Theorem 3.1, we obtain the following Corollary:

Corollary 3.1. *If $f \in E_p^m(\theta, \gamma, \mu, \eta, T)$, then*

$$\left\| \int_0^1 T f(tT) dt \right\| \leq \frac{\|T\|^{p+1}}{p+1} \left[1 + \frac{2\gamma\eta(p^2-1)(p-\mu)m!}{((p+m)^2-1)(\theta m)^{m-1}e^{-\theta m}[2\gamma\eta(p+m-\mu)-m(1+\eta)]} \|T\|^m \right]$$

and

$$\left\| \int_0^1 T(tT)dt \right\| \geq \frac{\|T\|^{p+1}}{p+1} \left[1 - \frac{2\gamma\eta(p^2-1)(p-\mu)m!}{((p+m)^2-1)(\theta m)^{m-1}e^{-\theta m}[2\gamma\eta(p+m-\mu)-m(1+\eta)]} \|T\|^m \right].$$

Proof. By Definition 1.1 and Theorem 3.1 for $\lambda = 1$, we have $D_T^{-\lambda} f(T) = \int_0^1 f(tT)dt$, the result is true.

Theorem 3.2. If $f \in E_p^m(\theta, \gamma, \mu, \eta, T)$, then

$$\begin{aligned} & \|D_T^\lambda f(T)\| \\ & \leq \frac{\Gamma(p+1)}{\Gamma(p-\lambda+1)} \|T\|^{p-\lambda} \left[1 + \frac{2\gamma\eta(p-1)(p-\mu)m!\Gamma(p+m+1)\Gamma(p-\lambda+1)}{(p+m-1)(\theta m)^{m-1}e^{-\theta m}[2\gamma\eta(p+m-\mu)-m(1+\eta)]\Gamma(p+1)\Gamma(p+m-\lambda+1)} \|T\|^m \right] \end{aligned} \quad (3.5)$$

and

$$\begin{aligned} & \|D_T^\lambda f(T)\| \\ & \geq \frac{\Gamma(p+1)}{\Gamma(p-\lambda+1)} \|T\|^{p-\lambda} \left[1 - \frac{2\gamma\eta(p-1)(p-\mu)m!\Gamma(p+m+1)\Gamma(p-\lambda+1)}{(p+m-1)(\theta m)^{m-1}e^{-\theta m}[2\gamma\eta(p+m-\mu)-m(1+\eta)]\Gamma(p+1)\Gamma(p+m-\lambda+1)} \|T\|^m \right]. \end{aligned} \quad (3.6)$$

The result is sharp for the function f given by (3.3).

Proof. Let $f \in E_p^m(\theta, \gamma, \mu, \eta, T)$. By (1.6), we have

$$\begin{aligned} \frac{\Gamma(p-\lambda+1)}{\Gamma(p+1)} T^\lambda D_T^\lambda f(T) &= T^p - \sum_{n=p+m}^\infty \frac{\Gamma(n+1)\Gamma(p-\lambda+1)}{\Gamma(p+1)\Gamma(n-\lambda+1)} a_n T^n \\ &= T^p - \sum_{n=p+m}^\infty \phi(n, \lambda) a_n T^n, \end{aligned}$$

where

$$\phi(n, \lambda) = \frac{\Gamma(n+1)\Gamma(p-\lambda+1)}{\Gamma(p+1)\Gamma(n-\lambda+1)}, \quad (n \geq p+m, p, m \in \mathbb{N}).$$

Since for $n \geq p+m$, ϕ is a decreasing function of n , thus we have

$$0 < \phi(n, \lambda) \leq \phi(p+m, \lambda) = \frac{\Gamma(p+m+1)\Gamma(p-\lambda+1)}{\Gamma(p+1)\Gamma(p+m-\lambda+1)}.$$

Also, by using Theorem 2.1, we get

$$\sum_{n=p+m}^\infty a_n \leq \frac{2\gamma\eta(p-1)(p-\mu)m!}{(p+m-1)(\theta m)^{m-1}e^{-\theta m}[2\gamma\eta(p+m-\mu)-m(1+\eta)]}.$$

Thus

$$\begin{aligned} & \left\| \frac{\Gamma(p-\lambda+1)}{\Gamma(p+1)} T^\lambda D_T^\lambda f(T) \right\| \\ & \leq \|T\|^p + \phi(p+m, \lambda) \|T\|^{p+m} \sum_{n=p+m}^\infty a_n \\ & \leq \|T\|^p + \frac{2\gamma\eta(p-1)(p-\mu)m!\Gamma(p+m+1)\Gamma(p-\lambda+1)}{(p+m-1)(\theta m)^{m-1}e^{-\theta m}[2\gamma\eta(p+m-\mu)-m(1+\eta)]\Gamma(p+1)\Gamma(p+m-\lambda+1)} \|T\|^{p+m}. \end{aligned}$$

Then

$$\|D_T^\lambda f(T)\| \leq \frac{\Gamma(p+1)}{\Gamma(p-\lambda+1)} \|T\|^{p-\lambda} \left[1 + \frac{2\gamma\eta(p-1)(p-\mu)m!\Gamma(p+m+1)\Gamma(p-\lambda+1)}{(p+m-1)(\theta m)^{m-1}e^{-\theta m}[2\gamma\eta(p+m-\mu)-m(1+\eta)]\Gamma(p+1)\Gamma(p+m-\lambda+1)} \|T\|^m \right].$$

And by the same way, we obtain

$$\|D_T^\lambda f(T)\| \geq \frac{\Gamma(p+1)}{\Gamma(p-\lambda+1)} \|T\|^{p-\lambda} \left[1 - \frac{2\gamma\eta(p-1)(p-\mu)m!\Gamma(p+m+1)\Gamma(p-\lambda+1)}{(p+m-1)(\theta m)^{m-1}e^{-\theta m}[2\gamma\eta(p+m-\mu)-m(1+\eta)]\Gamma(p+1)\Gamma(p+m-\lambda+1)} \|T\|^m \right].$$

4. Extreme Points

We obtain here the extreme points of the class $E_p^m(\theta, \gamma, \mu, \eta, T)$.

Theorem 4.1. Let $f_p(z) = z^p$ and

$$f_n(z) = z^p - \frac{2\gamma\eta(p-1)(p-\mu)(n-p)!}{(n-1)(\theta(n-p))^{n-p-1}e^{-\theta(n-p)}[2\gamma\eta(n-\mu) + (p-n)(1+\eta)]} z^n, \quad n \geq p+m.$$

Then $f \in E_p^m(\theta, \gamma, \mu, \eta, T)$ if and only it can be expressed in the form:

$$f(z) = \delta_p z^p + \sum_{n=p+m}^{\infty} \delta_n f_n(z), \quad (4.1)$$

where $(\delta_p \geq 0, \delta_n \geq 0, n \geq p+m)$ and

$$\delta_p + \sum_{n=p+m}^{\infty} \delta_n = 1.$$

Proof. Suppose that f is expressed in the form (4.1). Then, we have

$$\begin{aligned} f(z) &= \delta_p z^p + \sum_{n=p+m}^{\infty} \delta_n \left[z^p - \frac{2\gamma\eta(p-1)(p-\mu)(n-p)!}{(n-1)(\theta(n-p))^{n-p-1}e^{-\theta(n-p)}[2\gamma\eta(n-\mu) + (p-n)(1+\eta)]} z^n \right] \\ &= z^p - \sum_{n=p+m}^{\infty} \frac{2\gamma\eta(p-1)(p-\mu)(n-p)!}{(n-1)(\theta(n-p))^{n-p-1}e^{-\theta(n-p)}[2\gamma\eta(n-\mu) + (p-n)(1+\eta)]} \delta_n z^n. \end{aligned}$$

Hence

$$\begin{aligned} &\sum_{n=p+m}^{\infty} \frac{(n-1)(\theta(n-p))^{n-p-1}e^{-\theta(n-p)}[2\gamma\eta(n-\mu) + (p-n)(1+\eta)]}{2\gamma\eta(p-1)(p-\mu)(n-p)!} \times \\ &\quad \times \frac{2\gamma\eta(p-1)(p-\mu)(n-p)!}{(n-1)(\theta(n-p))^{n-p-1}e^{-\theta(n-p)}[2\gamma\eta(n-\mu) + (p-n)(1+\eta)]} \delta_n \\ &= \sum_{n=p+m}^{\infty} \delta_n = 1 - \delta_p \leq 1. \end{aligned}$$

Then $f \in E_p^m(\theta, \gamma, \mu, \eta, T)$.

Conversely, suppose that $f \in E_p^m(\theta, \gamma, \mu, \eta, T)$, we may set

$$\delta_n = \frac{(n-1)(\theta(n-p))^{n-p-1} e^{-\theta(n-p)} [2\gamma\eta(n-\mu) + (p-n)(1+\eta)]}{2\gamma\eta(p-1)(p-\mu)(n-p)!} a_n,$$

where a_n is given by (2.4). Then

$$\begin{aligned} f(z) &= z^p - \sum_{n=p+m}^{\infty} a_n z^n \\ &= z^p - \sum_{n=p+m}^{\infty} \frac{2\gamma\eta(p-1)(p-\mu)(n-p)!}{(n-1)(\theta(n-p))^{n-p-1} e^{-\theta(n-p)} [2\gamma\eta(n-\mu) + (p-n)(1+\eta)]} \delta_n z^n \\ &= z^p - \sum_{n=p+m}^{\infty} (z^p - f_n(z)) \delta_n \\ &= \left(1 - \sum_{n=p+m}^{\infty} \delta_n\right) z^p + \sum_{n=p+m}^{\infty} \delta_n f_n(z) \\ &= \delta_p z^p + \sum_{n=p+m}^{\infty} \delta_n f_n(z). \end{aligned}$$

This completes the proof of the theorem.

5. Convex Combination

Theorem 5.1. *The class $E_p^m(\theta, \gamma, \mu, \eta, T)$ is closed under convex combinations.*

Proof. For $j = 1, 2, \dots$, let $f_j \in E_p^m(\theta, \gamma, \mu, \eta, T)$, where f_j is given by

$$f_j(z) = z^p - \sum_{n=p+m}^{\infty} a_{n,j} z^n.$$

Then by (2.1), we have

$$\begin{aligned} \sum_{n=p+m}^{\infty} (n-1)(\theta(n-p))^{n-p-1} e^{-\theta(n-p)} [2\gamma\eta(n-\mu) + (p-n)(1+\eta)] a_{n,j} \\ \leq 2\gamma\eta(p-1)(p-\mu)(n-p)!. \end{aligned} \quad (5.1)$$

For $\sum_{j=1}^{\infty} \alpha_j = 1$, $0 \leq \alpha_j \leq 1$, the convex combination of f_j maybe written as

$$\sum_{j=1}^{\infty} \alpha_j f_j(z) = z^p - \sum_{n=p+m}^{\infty} \left(\sum_{j=1}^{\infty} \alpha_j a_{n,j} \right) z^n.$$

Thus, by (5.1), we get

$$\begin{aligned}
 & \sum_{n=p+m}^{\infty} (n-1)(\theta(n-p))^{n-p-1} e^{-\theta(n-p)} [2\gamma\eta(n-\mu) + (p-n)(1+\eta)] \left(\sum_{j=1}^{\infty} \alpha_j a_{n,j} \right) \\
 &= \sum_{j=1}^{\infty} \alpha_j \left(\sum_{n=p+m}^{\infty} (n-1)(\theta(n-p))^{n-p-1} e^{-\theta(n-p)} [2\gamma\eta(n-\mu) + (p-n)(1+\eta)] a_{n,j} \right) \\
 &\leq \sum_{j=1}^{\infty} \alpha_j (2\gamma\eta(p-1)(p-\mu)(n-p)!) \\
 &= 2\gamma\eta(p-1)(p-\mu)(n-p)!.
 \end{aligned}$$

Therefore

$$\sum_{j=1}^{\infty} \alpha_j f_j(z) \in E_p^m(\theta, \gamma, \mu, \eta, T).$$

Corollary 5.1. *The family $E_p^m(\theta, \gamma, \mu, \eta, T)$ is a convex set.*

References

- [1] Chrakim, Y., Lee, J. S., & Lee, S. H. (1998). A certain subclass of analytic functions with negative coefficients for operators on Hilbert space. *Math. Japonica*, 47(1), 155-124.
- [2] Dunford, N., & Schwarz, J. T. (1958). *Linear Operator, Part I, General Theory*. New York-London: Interscience.
- [3] Fan, K. (1978). Analytic functions of a proper contraction. *Math. Z.*, 160, 275-290. <https://doi.org/10.1007/BF01237041>
- [4] Fan, K. (1979). Julia's lemma for operators. *Math. Ann.*, 239, 241-245. <https://doi.org/10.1007/BF01351489>
- [5] Ghanim, F., & Darus, M. (2008). On new subclass of analytic p-valent functions with negative coefficients for operators on Hilbert space. *Int. Math. Forum*, 3(2), 69-77.
- [6] Goodman, A. W. (1983). *Univalent functions* (Vols. I and II). Washington, NJ: Polygonal House.
- [7] Joshi, S. B. (1998). On a class of analytic functions with negative coefficients for operators on Hilbert space. *J. Approx. Theory Appl.*, 107-112.
- [8] Owa, S. (1985). On certain classes of p-valent functions with negative coefficients. *Simon Stevin*, 59, 385-402.
- [9] Owa, S. (1992). The quasi-Hadamard products of certain analytic functions. In H. M. Srivastava & S. Owa (Eds.), *Current topics in analytic function theory* (pp. 234-251). Singapore: World Scientific Publishing Company. https://doi.org/10.1142/9789814355896_0019
- [10] Selvaraj, C., Pamela, A. J., & Thirucheran, M. (2009). On a subclass of multivalent analytic functions with negative coefficients for contraction operators on Hilbert space. *Int. J. Contemp. Math. Sci.*, 4(9), 447-456.
- [11] Wanas, A. K. (2015). A certain subclass of multivalent analytic functions with negative coefficients for operators on Hilbert space. *J. Indones. Math. Soc.*, 21(2), 77-82. <https://doi.org/10.22342/jims.21.2.228.77-82>
- [12] Wanas, A. K., Choi, J., & Cho, N. E. (2021). Geometric properties for a family of holomorphic functions associated with Wanas operator defined on complex Hilbert space. *Asian-European Journal of Mathematics*, 14(7), 1-14. <https://doi.org/10.1142/S1793557121501229>

-
- [13] Wanas, A. K., & Frasin, B. A. (2018). Applications of fractional calculus for a certain subclass of multivalent analytic functions on complex Hilbert space. *General Mathematics*, 26(1-2), 11-23.
- [14] Wanas, A. K., & Jebur, S. K. (2018). Geometric properties for a family of p-valent holomorphic functions with negative coefficients for operators on Hilbert space. *Journal of AL-Qadisiyah for Computer Science and Mathematics*, 10(2), 1-5. <https://doi.org/10.29304/jqcm.2018.10.2.361>
- [15] Wanas, A. K., & Khuttar, J. A. (2020). Applications of Borel distribution series on analytic functions. *Earthline Journal of Mathematical Sciences*, 4(2), 71-82. <https://doi.org/10.34198/ejms.4120.7182>
- [16] Wanas, A. K., & Murugusundaramoorthy, G. (2021). Higher-order derivatives of multivalent analytic functions defined on complex Hilbert space. *J. Adv. Math. Stud.*, 14(2), 197-205.
- [17] Wanas, A. K., & Swamy, S. R. (2020). New family of multivalent analytic functions defined on complex Hilbert space. *Earthline Journal of Mathematical Sciences*, 3(1), 155-165. <https://doi.org/10.34198/ejms.3120.155165>
- [18] Xiapei, Y. (1994). A subclass of analytic p-valent functions for operators on Hilbert space. *Math. Japonica*, 40(2), 303-308.

This is an open access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/4.0/>), which permits unrestricted, use, distribution and reproduction in any medium, or format for any purpose, even commercially provided the work is properly cited.
